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faL7.26kg E#E125mm (¥%) =2 - RR—Y F251 418
Fa#.7.26kg EZ129mm (¥k) =2 - RFR—Y F251C 21@
Fa#7.26kg EE120mm (¥8) = - RFR—Y F251A 21
fatlekg EE117mm (BR) =2 - RAR—Y F291 81
fatLokg EE110mm (¥k) =2 -R7R—Y F292B 81
fatdkg EZE103mm (#8) = - RFR—Y F253 61E
fatLakg EE109mm (¥f) =2 - RFR—Y F253C 1@
ftLdkg EE99mm (¥k) =2 - RFR—Y F253A 118
fat 3kg TRE—XH (¥%) =2 - RFR—Y NF293A 31E
fax 2kg YR4—XH (¥R) =2 - RFR—Y NF294A 31E
M #& 2kg R—/X—HM 2kg (#R) == R7R—Y F331A 3
M 2kg R—/8— 2kg (#R) == R7R—Y F301A 3%
F#& 1.5kg X—/%—HM 1.5kg (¥k) =2 - RFR—Y F332A 3t
I8 1.5kg R—/8— 1.5kg (#%) =2 - RR—Y F302B 58
I8 1kg R—/S—HM 1kg (¥8) =2 - RFR—Y F333A 3k
FI#E kg X—/3— 1kg (¥8) =2 - R7KR—Y F303B 61K
M#& 0.75kg YRZ—XH (#%) =2 - RFR—Y NF305 31E
1>1) 800g XA—/X—DR(80m) (¥k) =2 - R7R—Y F453E 27K
451 800g B4 DR(70m) (#k) == R7R—Y F454E 2K
1>l) 800g =T 47 Ls DR(60m) (¥k) = - R7R—Y FA455E 3&
151 800g R—/8—I1)—k800 (BR) = - RAR—Y flex6.8 NC763A 14
Y 800g R—/A\—T—ry 597 (¥k) = R7IR—Y flex7 NCT64A 1K
*°l) 800g 759790m (%) =2 - R7FR—Y NC828 1K
151) 800g ¥5v%785m (¥k) =2 - RFR—Y NC829 14K
1>l 600g A—/X—DR(70m) (¥R) = - RIR—Y F463F 54
1>51) 600g A% DR(60m) (¥8) =2 - RFR—Y F464F 27K
151) 600g =7 47 LADR(50m) (%) =2+ RAFR—Y F465F 3&
1) 600g R—/8—I1)—pk (%) =2« RIR—Y flex7.0 NC775L 14K
1OV 600g FATFI597 (k) = R7IR—Y flex7.2 NC7730 1K
t°l) 600g 7597 80m (¥k) =2 - RFR—Y NC835C 1K
t°l) 600g 7597 75m (%)== R7R—Y NC836C 1K
©Y 400g YRA—XH (¥8) = - R7R—Y NC603A 47K
CAKE 397g (¥R) = - RR—Y 3K




